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QUESTION 1

A customer needs direct attached storage that can provide relatively large storage capacities at low cost. 

The environment workload will be high readflow write. 

Which HPE SSD solution Pest suits these requirements? 

A. Enterprise Value SSDs 

B. Enterprise Endurance SSDs 

C. Enterprise Performance SSDs 

D. Enterprise Mainstream SSDs 

Correct Answer: B 

 

QUESTION 2

Which HPE primary production storage solution is targeted to the small and mid-sized business markets? 

A. HPE StoreVirtual 

B. HPE StoreAll 

C. HPE StoreOnce 

D. HPE StoreEver 

Correct Answer: A 

 

QUESTION 3

Your customer is deploying a new application that is based on OpenStack. Which HPE storage solution supports this? 

A. HPE StoreEasy 

B. HPE StoreEver 

C. HPE StoreVirtual VSA 

D. HPE StoreAll 

Correct Answer: C 

 

QUESTION 4

Which HPE direct attach storage product offers an archiving platform for HPE ProLiant c-Class servers? 
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A. HPE StoreAll 

B. HPE Ultrium Tape Blades 

C. HPE MSA 

D. HPE StoreOnce Backup 

Correct Answer: B 

 

QUESTION 5

A customer has a business objective of reducing OPEX costs because their current data center has high 

operating costs arid overhead. Additionally, their Infrastructure has poor utilization, availability, and 

performance. You are proposing that they move to a hyper-converged solution. 

How can this help to meet the customer\\'s objective? (Select two.) 

A. segregated infrastructure 

B. autonomic management 

C. homogeneous interoperability 

D. simplified management 

E. optimized for virtualization 

Correct Answer: AB 

 

QUESTION 6

Which industry standard informs me storage system that a specific block of allocated capacity is no longer needed or
valid? 

A. Vertical Clean 

B. TPSTUN 

C. Atomic Test and Set (ATS) 

D. T10 UNMAP 

Correct Answer: D 

 

QUESTION 7

Which HPE storage devices support adaptive optimization? (Select two.) 
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A. StoreOnce 

B. StorEver 

C. StoreEasy 

D. StoreVirtual 

E. StoreServ 

Correct Answer: DE 

 

QUESTION 8

What are disadvantages of using Fibre Channel Arbitrated Loop (FC-AL) rather than fabric Channel switched Loop (FC-
SW) topology? (Select two.) 

A. FC-AL topology is usually more expensive than FC-SW. 

B. Only one pair of ports can communicate- at the same time. 

C. Multiple pairs of ports communicate at the same time. 

D. The failure of a port is isolated from the other ports. 

E. The bandwidth is shared among all active nodes. 

Correct Answer: BE 

 

QUESTION 9

What are benefits of the HPE StoreServ 3PAR architecture? (Select two.) 

A. provides silicon-based hardware acceleration of thin technologies 

B. supports direct SAS connection for up to four servers 

C. provides iSCSI-based asynchronous remote replication 

D. provides a meshed cluster architecture 

E. scales out to meet small and medium-size business virtualization needs 

Correct Answer: AC 

 

QUESTION 10

What are benefits of using the NinjaProtected Tool? (Select two.) 

A. identifies the agents that the solution needs 
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B. identifies potential deduplication-driven benefits 

C. measures the performance of transactions 

D. assists in finding opportunities for cost reductions 

E. simplifies the number of licenses required 

Correct Answer: BD 
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